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Iw-J 11 5. 334E+02 3. T49E+02
12 7. 549E+03 1. 247TE+03
22 1. 958E+02 1. T95E+02
IW-C 23 6. 075E+02 4. 271E+02
24 8. 598E+03 1. 420E+03
27 2. T11E+02 2. 484E+02
OW-A 28 8. 410E+02 5.912E+02
29 1. 190E+04 1. 966E+03
30 5. 630E+04 2. 622E+04

FBEIR
31 2. 540E+04 3. 486E+03
%5 2-6 & EW AIafilimiEda, P (Ss-D2)

Y =P (X4 (t/cm) P (t - s/cm)
3 2. T11E+02 2. 485E+02
ow-1 4 8. 410E+02 5. 918E+02
5 1. 190E+04 1. 973E+03
7 1. T66E+02 1. 619E+02
IW-2 8 5. 479E+02 3. 855E+02
9 7. 754E+03 1. 286E+03
24 1. 711E+02 1. 568E+02
IW-10 25 5. 308E+02 3. 735E+02
26 7.513E+03 1. 246E+03
29 2. 656E+02 2. 434E+02
ow-11 30 8. 240E+02 5. 798E+02
31 1. 166E+04 1. 933E+03
g 32 5. 630E+04 2. 622E+04
33 2. 540E+04 3. 492E+03

4 Z5-BIHE 12-1RAT 16 — 7
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6 — 9T pWM-2T1 WE—E ¥

5 3-1 & EAEMAITRIR (NS J5m)

Xz L Ss=D1 Al 1 X HET v Ss-D2 A 1X A E T L
SRR ERERIFE IR . EREpEE] [E A7 SR AL o I & 3] EEEEEIFE IR o
/€4 IR IR EL AR L
(s) (Hz) (s) (Hz) (s) (Hz)
1 0.237 4. 21 2. 206 0.233 4.29 2. 224 0.233 4.29 2.224
2 0.123 8.13 2.743 0.122 8. 17 2.678 0.122 8. 17 2.678
3 0.116 8. 60 1. 100 0.116 8.63 1.173 0.116 8.63 1.174
4 0. 097 10. 33 2. 094 0. 096 10. 41 2.014 0. 096 10. 41 2.013
5 0.093 10. 76 1. 098 0.093 10. 81 1. 263 0.093 10. 81 1. 264
%323 EHMEATREE (EW W)
Wi X472 L Ss-D1 i I 4E 7 /v Ss—D2 I IE4E T /v
EEEEPEEY SRERIFE IR . & JE [ A IREh L o [ A JE RERIFEIE e —
WEL AR S IR L IR
(s) (Hz) (s) (Hz) (s) (Hz)
1 0. 230 4. 36 2.179 0. 226 4. 42 2.190 0. 226 4.43 2.190
2 0.125 8.01 1.924 0.124 8. 06 1. 898 0.124 8. 06 1. 898
3 0.116 8. 64 0.073 0.115 8.67 0. 068 0.115 8.67 0. 068
4 0. 098 10. 15 0. 654 0. 098 10. 19 0. 624 0. 098 10. 19 0. 624
5 0. 091 10.93 0. 835 0.091 10. 96 0.735 0. 091 10. 96 0.734
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Ml IE4H D (Ss-D1 Hif%)
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EEEH

EEIREE 8.17 Hz

R

RK

0.122 s
2.678 -1 0 +1
RJ S.W. RC RA

fEERH D (Ss—D1 HfE)

% 3-2 ¥

AT — Rkl (NS J7H
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EEEH 0.116 s EB A 0.116 s
EEiREER  8.63 Hz EBiREZER 8.63 Hz
FARE 173 0w FEEE 1174 4 0w
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0P +6.0 M

OP +1. 15M (SW)
0P -0.8 M

0P -8.1 M

0P-14.1 M

EH A 0.09 s

EEIREIZR  10.41 Hz

RIBRER 2.014 S

RK RJ S.W. RC RA

0P+50.5 M
0P+41.2 M
0P+33.2 M
0P+22.5 M
0P+15.0 M
0P +6.0 M
OP +1.15M(SW)
0P -0.8 M

i)

% 3-4 ¥

0P -8.1M

|
,,,,,,,,,,,, R 0P-14.1 M

XY (Ss-D1 HuR)

[EfAE— ok (NS Fi 4 Kk)

EE R 0.09 s
EBEREE  10.41 Hz
Rl 2.013

RK

RJ S M.

1 0 +1
[ S
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i afEeeto)

(Ss—D2 Hi)

0P+50.5 M

0P+41.2 W

0P+33.2 M
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Mlm X7z L

EHE
Ef#RE1E
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0.093 s
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0P+15.0 M
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OP +1. 15M(SW)
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P -8.1 M

0P-14.1 M
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RJ S .
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RC RA
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0P+50.5 M

0P+41.2 M

0P+33.2 M

0P+22.5 M

0P+15.0 M

0P +6.0 M
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OP +1. 15M (SW)
0P -0.8 M

0P -8.1M

0P-14.1 M

fEERH D (Ss—D1 )
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E&EER 0.226 s
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R R 2.190
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0P+15.0 M

0P +6.0 M

OP +1.15M(SW)
0P -0.8 M

P -81M

0P-14.1 M
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% 3-7 X
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E5 EE 0.124 s
EEREER  8.06 Hz
R 1.898

R1 R2 R4

1 0 +1
R10 R11

(i alEeeto)
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0P+22.5 M
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0P +6.0 M
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